Pre-Calculus  11   Chapter 2   Test  Review                          Name:__________________
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Sketch each angle in standard position. State which quadrant the angle terminates
in and the measure of the reference angle.
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[image: image2.png]2. Determine the exact value of the following ratios without using technology.

a) cosI80°=__  b) tan210° = ¢ sin3l5°=___
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[image: image3.png]3. A point P(—4, 5) lies on the terminal arm of an angle 6 in standard position.
Determine the exact trigonometric ratios for sin 6, cos 6, and tan 6.
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[image: image4.png]4. Suppose 0 is an angle in standard position with terminal arm in quadrant Il and

sin § = 15 Determine the exact values of the other two primary trigonometric ratios.
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[image: image5.png]5. Solve for 9, 0° = 6 < 360°.

a) cos § = 0.5877
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[image: image6.png]6. Find the indicated side or angle.
a) LB= b) side b =
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[image: image7.png]7. Determine how many AABCs satisfy the following conditions.
a) LA =69°a=10.1cm,and b= 11.4cm





[image: image8.png]b) LA =28 a=4,andb =6





[image: image9.png]8. Find the indicated side or angle.

a)sidec=____ A
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